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1. (a) Evaluate the given integral or show that it diverges: / 2ze™ 2" dx
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(b) Find the length of the curve 4y = 2Inx — z2fromz=1toz =e.
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2. Sketch the graph of the region bounded by y = /z+ 1,y =2z, 2 =0, z = 1 and
y-axis. Then, find the volume of the solid generated by rotating this region about

(a) the r-axis usmg} slicing method.
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(b) the y-axis using cylindrical shell method.
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3. (a) Determine whether the given series converges or diverges by using any appro-
priate test. o @ N
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(b) Find the sum of the given series Z p— Py 8 '
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4. Find the center, radius and interval of convergence of the given power series: Z
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